
Page 1 of 1

Serial No.8076-
Checked By:

     Tech
     Date

Box 1 - FCV627 Wt:  5 lbs.  Dim:  10"x 12"x 8"
Part No. Description Quantity Yes Remarks

1 FCV627 5.6" Dual Freq Color LCD Sounder 1
2 100-329-391 White Plastic Cover 1 installed
3 001-384-190 Swivel Mount 1 installed
4 000-156-405 Power/Multi Cable w/ 10p Conn 1
5 100-329-371 Bracket Knob 1
6 000-155-849 Fuse FGBO-A 2A 2
7 000-802-082 M5x25 Self Tapping Screw 4
8 100-329-460 Flush Mounting Sponge 1
9 100-329-441 Combo Cable Clamp/Tie 1
10 000-167-545 Wing Nut M4 4
11 000-864-126 Flat Washer M4 4
12 000-167-405 Spring Washer M4 4
13 000-162-679 Threaded Rod M4 x 50 4
14 C22-005-02Z Flush Mounting Template 1
15 OME-238-20Z Operator's Manual 1
16 MLG-238-82Z Multi-Language Operator's Guide 1
17 100-332-651 LCD cleaning cloth 1
18 MDC-237-40Z Environmental Declaration 1

rev 10/10/12

PACKING LIST FOR FCV627

FCV627

For Internal Use Only


	Sheet1

